B

%18 [ R DD AR —Y R RS it R
EEZA N A
H B SNRK224F10 A 3 B
2 | NDYZ7 M AXIT A

\ K 4 GO — Y /DEMA RS
A FE 100M
' BT R ® R (13#38) =1 ErER ZJIHT
EohL oM ok (13748 ) MY hLAdR— 27 ZBFER M [T
R VAR BEOHR ( 13fb54 ) KAWE ] SC KA HET
HAh K A =K ( 13%591 ) RKEH 2= 72— 57 KEH
SR VANE S N N (138098 ) NIESS5N ==Ll
goefr @t W & ( 147004 ) WL K G BPER (L
SO 1 000M
B B e 5 ¥ & ( 34303F14 ) VG R B R KR
oAl ]| ( 34703Fb21 ) KiF JUNEL)
RTINS R TTE < R /N ( 343045556 ) EPN B bAT
wapr K FEKH ( 343065086 ) KIRHII =27y hAR—/L | KR
HoHiL W gl b ( 34307069 ) ER bimiAll
6L B o 2 ( 34507F98 ) IEFEI =R ry FiR—)L KR
DFE 4X100M
B ORE R - MERE - FRE - mAE (547040 ) KAH] SC KA HET
WL EEE - BK - & - TEAE ( 54RD6S ) HEEF H gy
3N KEP - MEHE - MAT - GHEE (555002 ) HARN RR—L AR
FANT Lk - EA - BB WA (555037 ) TREEAC FE BT
HHA A -k - B - R ( 55855 ) EHa=T7 7RV — 25T | EHT
oA R m WM (55061 ) KIRPEEEA C KR T
D EERROY
& W o sk M & ( 4m52 ) R FIRAT
s m O B st ( 4mA47 ) FIFAET RV — o5 ==L
B3N EH OB R M ( 4m45 ) INJ AC KR
Wahr pT E# W & ( 4m28 ) b 18
WSO B O 6 R ( 4m16 ) P JEL KR
EVARTEIR T ( 3m99 ) RKENH S 2=T 72— 57| KEH
O EEPE
O N B Bt ( 1m39 ) CIEFI=AR_"A 7y FAR—L KR
Hofr = M FEKER ( Im36 ) FIRA— /=2 — X T T
FRR A B ( 1m36 ) FEPE N2y FAR— )L o JEE T
WAL & 5 B ( 1m25 ) TMTSC ==L
BHAL M S OE ( 1m25 ) VanTHBAR—YIFT KR
AN e A ( 1m25 ) KAEH] SC KA H AT
D R— VR
® B £ w i 3 (82mb4 ) =1 ErER =JImT
wmofr |\ | M U (67m82) FBYLEFER P T
3N 1 B W (64m96 ) FIR FIRAT
wafr /N B B X (64m91 ) AN B 2R KR
T A R R 2 (61m40) S| b
BoNr FF O K A ( 58m04 ) (bR M
DA 8 OMAN— RV F—T
BB [pT R " o ( 13%43) =JISCjir SNV h—) =JIImy
s /N R R ( 147006 ) 47 71— — X ERER e
X VAL i NI N < (147044 ) KRT7 2= 7 Ay h1— KR
AN B K B o} ( 148051 ) LK G BPEk (LT
OO ERE (14%983) & JE R RAERT
BoNL T O — M (14583 ) ST 2 =7 7 A Y — b | ST
HFEEEY 100M
B B MoAa E F (13718 ) KaH ] SC KA FHHET
wofr [ W OBES ( 13%b25 ) KAW ] SC KA HET
W3 K WE O OME R (13728 ) SRKYa=7757 EHETT
BaAhr HOE EKRER (13%p42) KAW] SC AT HET
ESRUARD AN g (13%75) —ARART R SR
Hehr = O OB K ( 16¥017) KAW] SC KA HET




\ K 4 G2 8 AR —Y DM - T4
o 100M
' W % % (14F25) RBHTa=T77RV—Frr57 Rl
FopL H oM h F ( 14%64 ) B2 A % — 4| LT
ISR ARY S I TR i ( 14%065 ) LW TFCYa=7 A
wapr 55 ) k- (14871 )  KRRAL—FHR—L KR
K VAT I N r X ( 147586 ) JIPE N R AR—b JI Ve HT
BoNr T o 1 Fon (14F090)  JitE supizl
Yo 800M
B B L ¥ K ( 243317596 ) AL ELER B[ T
WL O fize ( 24y33F49 ) e NFEAERE B T
B3N w H O ( 243358048 ) HWETFCY a2=7T 1y
wafr & K HOK ( 24y38F035 ) SRKYa2=7757 T
R VAR RS S A (2 (2533877 ) KBF 4 v/ X=X =Ry bR—L KRG
6N B H Fn ( 24739F016 ) BAEIR AN RAR—L BACIRT
Lo 4x100M
B RS 5K - Sem - 1eRE - FiRIG (555083 ) SRKY2=72757 {4 H T
WO TN - EE - EH (567062 ) )] AC KR
BINL G- - RE - ERE (5765 ) HARNY RAR—L HART
BANL JR - ek - M E - (5TH9 ) EBHY2=7T7RAU—rrT77 EHM
HSNAL AR - B - BUEE - B (58FP02 ) | B B T
HeAr MR - BTEs - S - NE ( 58FP06 ) KAEH] SC KA FHHET
Bt EEEEO
OB e B B ( 4ml11 ) SRKY2=72757 ()
X (VARD /N == - (4 ( 4mo07 ) SRKYa2=72757 T
R R VAR I R O /A ( 3m94 ) KAHE] SC KA HHT
Tahr H OB HAE ( 3m91 ) FNAF— BAEIR
oL A B BRTE ( 3m89 ) ENART Y hAR—L FABG T
C AL - ( 3m86 ) LR Z AR syl
b EEBEO
' B ok E B 3 ( 1m28 ) IWETFCYa=7 1A
2R A/ S SR US ( 1m20 ) KEH 2=T T AV —h s 57 REH
2 VAR S B <S TN ( 1m20 ) +H 0 YIRS
FApL = ik HE ( 1m20 ) B2 X — AR
AR VA L B A S ( 1m20 ) BRI =7y hR—L B T
Feir m B O ( 1m20 ) P 5L KR
Dot R— VBT
OB e B HmEYE ( 56m77 ) SRKYa2=72757 {4 H T
B2l 8 R H &1 (46mo00 ) a5 B BR KR
B3N B o0 HF & ( 41m98) kil R T T XBPER NI
wmAhr e B HE (41m94 ) M AK—Y 7 5 7R —7 A8 EK T
Fo5fr K B %X K (41m62 ) KEH 2=T T AV —h 757 KEH
wepr M oA O H X ( 41mo00 ) WETFCY 2=7 A
ot 8 OMAN— RV F—TF
B B B+ E (148074) FEIANIL Y 2 =7 7 A — ~ FERLH
2R VARD NI [T (14896 )  FREBEI="RA7 v hR—/L FA G T
5530 A £ ( 1555005 ) WETFCYa=7 15
wahr K FE O oA M (158019 )  EIEFE RACR
W5AL Kk B o (16843 ) Bk EER wa T
Foeir M M M F (16%045) 4l 41T
Fef 1 00M
B B s BRE (147006 ) | FERNLPEAILY 2 =7 7 AV —F  ZERLH




£18E LRIV ELLZIAR—YRFHRAE =15 :NDYIRRAS T LLiF
#A:EK22F10838 (B
[BF 4x100m YJL— Fi¥]

#8 | IEfE| L=y AR FEIE| on— K4 FENE | $vn— K4 FENE] +on— K4 FENE |+ Kf FENE | Fon— K4 ks miE | HETH|  #HE |
1 4 2FEHI r FRY—FHS5T 9 B K W o K 1 76 A E S 3 80| m M R O 4 82| i JE W K 59.34
1 3mSR R A 181 f5 W 5 FE 182 W % i) 183 @i W ME K 184 41 3 HE i DNS
1 2 A|XEEHJSCA 4 121 5 B A 3 123) & B 1 122) IR A 2 125) Mk R OBE = 129) #& st N 54.68
1 1 S5[EBNY FAR—)L 1 106 XK % B + 2 07| = B OB 3 108 = B 8 4 109 B B KR £ 10| W A #& ff 54.64
1 3 6| KR BER R A 1 4l W =3 9 13 % S} 3 12/ K H K 4 11 g oA B A& 56.99
1 5 B TFCcsa=7 1 56| &t A i 3 57 1 A R R 2 58] B Kk Ak & 4 60 #F Kk HE L 61.53
| IBGL] L—v RRDE FENF [ on— K4 FENB| +on— K FENG| Fun— K4 FENE | o] K FENE | +on— K4 ik FE HErH| {HEE |
2| 5| 2|EEIAEFILI r FRU—bB | 3 93 % W A % 4 96| @ M W K 1 89 /b M - # 2 94| = B W OB 02| A i #k 63.03
2 4 3| & BEEE KD 1 167 T i K 168 T 8L % 4 169 7% O H K 9 170 xR 73 3 171 & B OB W&k 59.48
2 4+ a—R—x 65 K #k A K 64| M m E B 61 /b fE I 63| it i DNS
2 1 5|45 B KD 1 44| JEEOK 9 39| & K 1 & 3 41 "W 5w 4 43| 7F RO S 55.45
2 2 6| Moz LR R AR 2 34 O E X 4 35 X K B 9 3 36| /B ETR 1 31 ik 37| MR v ik 56.42
2 3 7| R R A 3 41 & W o9 s | 142] 5§ B K & o | M3| W M W ot 4 4]l A K 57.36
| IBGL] L—v ZRDE FENF[on— K4 FENB| +on— K FENG| Fun— K4 FENE | o] K£ FENE | +on— K4 ik FE HErH| {HEE |
3 4 2| PE R A 1 159 7% K #h 2 157) B A 3 158 b bk HE R 4 160 A W #E F 161 M K A 59.92
3 3 3| ETATAEMILI r PRY—FA 9 95 T ik — 4 87| & W & R 3 91| #k O | 86| B A &k & 58.18
3 1 ARRTT=wH Ry H—ZHRD | 4 2 % A kK ® 1 23 RO W GH 2 21 8 K i 3 24 A B E K 56.96
3 2 5|BBE R R 9 66 X MW F1 M 4 67| M W M ¥E 3 68 M H il 1 69 g+ K % 0 & F w 58.09
3 6|HIUFRLFvIH5T 9o % A& — | 4 | voo] gk i s w5 | 101 & A& s oz | g | voe] /o u s o |y | qos] A0 R K T DSQ
3] 5 7lxEEmJsScB g | 124 % i || 127 e K 3 | 126] # K M Ok 128)  ~F £ 2 | 10| = M T A 61.00
DSQ:%k4&
#A | JEfT| L—y R4 FENE | +un— K& FENE| Fon— K& FENE| Fon— K& FENE | Fun] K& FEIE| Fun— K& 08 R HRTAY|  {EE |
4 1
4 5 2[FIK GHERR AR 2 71 K mo& s 4 2 B OA B 3} 1 73 Ot kA% 3 4 ) Hm B|OA 56.66
4 4 3| E R AL 1 148 oKk 2 149 1 B I 3 150 % [ 4 151 gk B & 56.04
4 1 a|FBAC 2 260 A B R 1 HIES I PN 4 28] Ak A R H 3 29| W OB KR 30| AR ES 5493
4 5| = )il R AR 1 177) B % 2 o | 18| JE A i G 4 | 180 ® R W & 3 179 K i DSQ
4 2 6|KRFEPA C 4 1| % H IS 2| B & 1 6] 5 oM = 2 3| #e RO 3 7] % W K & 54.97
4 3| I|EHIrFRU—FH5T 3 | a6 B wm oA ® 1 a9 R A 5 | 80| B Kk & M 51 & F # | | B8 A — Bl 55.42
4 g|ZIILPRIL ] r 7 AU — R C 1 97| M Ik 2 9| M &K e 3 gg| it W5 4 gs5| & H ¥ og| I & #& DSQ
DSQ:%k#&
[BF 4x100m YL— RE5)
| IEfz | L= ZARDE FENE| Fun— K4 FEIF| Fon— K4 FENBE| o] K4 EIF|Fon— K4 FEIB| Fon— K4 ik ER hlrs | FEE
5 IRHI r FRY—FO ST 3 46) W W R & 4 49] B RCEOAN 2 50 B gk 1R M 51 % F % 1 48| 80 K — Wl 55.55
7 3|FERR AL 1 148 i K HF 2 149 1 B 23 3 150 & [ 4 151 hogk B & 56.18
3 A|FBNY FR—JL 1 106 ot b 2 107] = B B 108 E i B F 4 109 fF B K £ 3 10| B A & M 55.02
8] SKRIT=wHRYyHh—RAD | 4 2 % K Kk # 1 23| K OF i 2 21 & K ig 3 24| W HOIE 3K 56.30
4 6|FiEAC 2 260 W A B R 1 27+ o BOA 1 28] #k A R 3 29 W B K B 30| AR + 55.37
2 7|5% 8 2K 1 44| KR 2 39| # K W Sk 3 41 & w05 W 4 43| 7E R B s 54.68
6 8 KRFEEFA C 4 1| B m I 2l o w ¥ & 1 6] F 1 M H 2 3| R OE 3 NES PN 55.61
1 9| KEMJSCA 4 121 = K A 3 123 & B 1 122 <F W A 9 125t G OBE 129] # 5t K 54.40




$£18E ILBEVIELLZAR—YRTAE 215 :NDY IR RADT LT
#H :F22F10A3H(R)
[ZF 4x100m YL— FiE]

LIBEL| L= RRDE FEE [ Fon— K& FENE |+ K& FENE| $n— K& FENE | Fun— K& FENE | +on— K& ks BiE HETAY | EE
7 2| kEEJSCB 3 154 ok B B & 2 151 R W R 4 | 155 /N E He 1 158 M H A& 152 B G i 62.46
1 3[BT 7RV — 0 TT 4 56| 4 b 3 3 57 Kk 3 1 61| Ji = 2 62| = Bk R A& 59.33
3 4|4/ o—3— 1 89| W I i 2 88| & T M & 3 90| % O B K 4 91| e % W ¥ 59.63
5 §|TEALEASL ] r 7 A — A 1 114 R &5 2 108 % A & & 3 106 o #E T 4 18|  hit| % K 10| K 3 KT 59.99
4 slRWwTFRLFYEEST 4 | 132 5F O E/ M 3 | 1833 A U % % 134) i M T H 2 | 136) fE L ZoH 1 135) H M R AE 59.71
2 7 KRS L — R — L 2R 2 4l oI b 4 150 o1 =M 3 16| % B O 1 17| & B E 59.70
6 8| FmpE = 2 233 4 BOHE 4 | 234] F [ 235 B B EELF 3 236 W OB W 1 237| % G 4 60.15
LIERL| L=y RRDE FENE | Fon— K£ FENE | o] K£ FENE| $on- K% FENE | Fun— K4 FENE [ on— K£ L8R EE HETA |  #EE
5 2|2z KD 1 177) Moy kB 9 | 79| @ MR 3 | 78] i W R K 4 180 M [ M F 62.06
3| KiEJ r 7AV =2 F7B 3 97| kA H K & 2 99| w1l B 1 102 B8 Ty 4 101 #& Ik A6 H DSQ
2 4 REEA C 1 25 T F fn %= 9 24 & K HEix T 3 26|  RE L EEE 4 27| W F 58.87
1 5|SRKY2=7257 1 212 i K B W 3 | 213] = iE o AR 2 | 214 %E W hAUE 215 M A 4 | 216] FoMu & 56.13
3 6B 7R )=+ 5T 4 | 123]  FAE KPR 2 | 125 HE K BV X 3 | 124] L8R 1 127 R O H 126 5% K 6 59.29
7| PR A R D 4 82| B H UMY 2 83| & MW xt & 1 84| BE L K B 85| Jm jE & ¥ 3 86l JIIl F & £ DSQ
4 8lHBI=NRHTy kE—IL 1 161 ¥ Bk A A 4 | 164 W L X & 165) B2 I KR 2 | 162) FE B O GE 3 | 163 Bt M kR % 60.48
DSQ:k4&
LBz | L= ZARDEZ FENE| Fun— K% FEIE | +vn— K% FENE | Fun— K4 FENE | Fon— K4 FENE | +un— K% ik BE gD EE |
7 2| TSI ML r FRY— KB 9 115 = % & A 3 109 4 B qE 4 | 16| e A o3 dE 1 11 % = 1200 0 % & ™ 63.00
5 3|/ ERE A A 1 52|  ME W R OE 2 53| & Ok 8 3 54| A M ME 4 51| = B 55| a kR ZE 59.73
2 4|EBERARD 2 197 & b 3 198 @ FF W 4B 1 199 & A H f# 4 200 B [ L 201 JIl 4 W A 59.03
1 s[)IJAC 1 20 5% B Ak 2 21 N E M 3 22| WK B 4 19 9 BO%E R 2| & F HOY 57.33
4] B|XEHI rFRYU—FHISTA 4 93| HE W & 2 94| 41 Wl i 3 95| fE Wk RO 1 98| m EE % Wk 59.59
3 7lEmAC 9 20| ¥ E kil 3 31| At B WIHAE 1 2| WA YW 4 33 m B T R 30| B 0 HEPE 59.28
8|SRKZa1=745JcC 224 RO W B 225 s/ B K 226 18 H g 227 W Vs 228 kA& Bk WL
6 I TFCaz=7 4 76 & WO R 2 77| @M B 1 8 M Bk Y 3 79 % W ELD 59.81
i [ IEfz| L= ZARDEZ FENE| +un— K4 FEIE [ +vn— K4 FENE | Fun— K4 FENE | Fon— K4 FENE | +un— K% ik BE gD EE |
4 5 2|HRBEAC 8] & i %X W 2 9] A W & ¥ 3 10 @ B ok T 4 1 K K & 4% 1 12| ¥ R LM 59.66
4 2 3|SRKY=2=7777B 3 217 W W OE Y 218 W M Ew o | 219 = gk ES 4 2200 R W OB AE 1 229 W HE 58.01
4 4|5 BB 1 203 FF i B 3 | 204 E ® O 4 | 205 W AR LA 206 % i i o | 207 I i DSQ
4 1 5 HM N RAR—L 1 128] O #E RthE 2 129] 2 BV W 3 | 130 ® # HEE 4 131 ¥ Bk WO 57.29
4 4 6lFRiBAC 4 39 KR E Ak 3 a1 W7 7 g 1 42| b gk RO 2 43| R B B 44| & B L m 58.95
4 3 7| kAH ] SCA 9 149 B[ EB O 4 150 /N E & & 3 153 & JI £ &% 1 156 Ml % 159 /N E OE & 58.46
4 6 8RR F—R KD 1 173 ¥ & 4 | 75| W B0 I #E 3 | 174| A R E A 2 176) W OW E F 61.00
4 7 o|TALTAEMILI r FRY—FC 4 107|  FEH A OF 3 13 &% WM k% 2 12| HAE FE 1 119 K # W A 17| % # W = 68.06
DSQ:k#&
[&ZF 4x100m YL— RE]
| IBz | L=y RRDE FENE | $on— K£ FENE | o] K£ FENE| $on- K% FENE | Fun— K& FENE [ on— K£ L8R EE HETA |  #EE
7 1KiRFEERA C 1 25| L K R 2 24| 8 K ko 3 26|  BE L EEE 4 27| W F 58.25
5 2|gem z AR 2 197 # i 3 198  # FF W AE 1 199 5 K B H 4 2000 & B LBk 201( JII 4 me A 58.02
8 3|H/EAC 4 39| K Al A #k 3 4 W 7 e A 1 12 gk O 2 43| #E Bk BRE al B R 58.25
4 W BT T A= T 4 56| 4§ b % 3 57| Ak L3 1 61 Ji = 1 2 62| e g B A 57.96
2 s[)IlJAC 1 200§ R B Ak 2 21 N K B 3 22) R MR B 4 19 F W% R 28| & HOY 56.62
3 6| HR N FAR— 1 128]  fF g R 2 129] {2 W O 3 | 130 K #F hEE 4 131) 2 i HE W 57.65
1 JIISRKY2=7257 1 212 O OK F 7 3 23] B A 2 | 214] % W hEYE 215 # W b A~ 4 216| FoiRi & 55.83
g|SRKY=2=77578B 3| 217 WoBm ® 218] MW EW R 2 | 219] & % % 4 | 2200 R om OB OdE 1 229 i AHE DSQ
6 9| KM SCA 92 149 BT O 4 150 /) E &K o~ 3 | 1583 R I £ H 1 156) Ml R E 159 /N E K & 58.06

DSQ:k#&



#g18E WHBERIELLAR—YKRKE

[BF 100m FiE)

215 :NDYIRRAS T LUz

HH:ER22410A3H(A)

O IERL] L=y [Fun - K& AR 8% BE |hETR£&] EE
1 2 130 3% mOA|K o ] Jsc 15.27 -2.8
1 3 32| KIE M S P s x s bR - xS 14.41 -2.8
1 4 REEE 14.24 -2.8
1 5 138) ¥ s K |w IR = * B 14.84 -2.8
1 6 194 o HEilw v 2 = 7 s 5 7 14.36 -2.8
1 7 1| % MW BlP=a=7R 2Ky 357 14.49 -2.8
1 gl ml® mow wfr Yot " Y N 1666 28
#ER] L=y [Fun- K4 Rk A ke B |hETR A EZ
2 2 82| i B W K [KEFYa=TTAV— I TF77 16.22 -2.4
2 3 56| [ oo B Ok = [ =z & b 14.59 -2.4
2 4 195 f R B Btk v o2 = 7 2 5 7 15.09 -2.4
2 5 31| B 1 fh Rl mwmEk T s e — 2 K D 14.52 -2.4
2 6 185] %1 i G + R A * ) 14.21 -2.4
2 Y 21| % K BIkR7=2=0 27 2% v h—2#Hp 14.45 -2.4
2 gl sT| ke w ok fp ML, 14.67 24
2 9 169 75 Ak 4 k& B B L 2 K b 16.70 -2.4
BRI L=y [Fun - K& X FOE% BE |HETR£A] EE
3 2 6l 5 L % sk [K&Ediva=7r2)—-1+2r57 16.22 -3.5
3 3 13 = = K k% # A R » 16.18 -3.5
3 4 8% = om o#ls &8 0w x sc . 15.40 -3.5
3 5 52| 2 B OK HElN o mom B o2 ow 14.57 -3.5
3 6 63| £ m B &% % &= k. x K b 14.41 -3.5
3 7 125) 2 BB BE b |K e i Jsc 14.00 -3.5
3 8 181] f& M W FE |& # . » % »|DNS
3 9 68| T B 3L F|lx B m o % H 17.30 -3.5
BRI L=y [Fun - K4 ARD4 FCE% EE |HhHETR£&] EE
4 2 56| ot A sl w omwe v o2 = 7 15.46 0.1
. E W L - :
4 R EEE R 15.42 0.1
4 4 39l % A& M e 0w w2 ox® 13.69 0.1
4 5 HIEIRIPNE PR T & S 13.41 0.1
4 6 135 ZH M i # A I 2 R H 13.98 0.1
4 Y 122 SF Wy EES 1 m JSC 14.42 0.1
4 8 91l A % ok EHs w7 v - 2 x - % 14.03 0.1
4 9 14 &% M| O F R R b ¥ K B ok xR L 14.71 0.1
0BG L=y 3o - K4 ARV A ke ER |HETHE]  EE
5 2 2w o B O x B K OE o2 #F 16.20 -34
5 3 192 = )l S [ H e E O = 16.71 -3.4
5 4 00| 7 ) & Wy x5 7 14.64 -3.4
5 5 104 W B B R & Al B # % 14.78 -3.4
5 6 wo| % B o &= o % o o= K 13.47 -34
5 7 145 % 1% Milx  m owm ok xR b 14.44 -3.4
5 8 40| Bl LlxrwesE 72V = +7 3 7 14.76 -3.4
5 of |k owm o ox|F E VT 2, 5 7 13.91 -3.4
[BF 100m ki)
MEGRL] L=y o= K4 AR 4 FCE% BE |HETR£&] EE
7 2 135| 268 H |\ if = * b 14.06 -2.1
4| 3| wmlxw o kx[F ST 0, T 7 13.91 -2.1
1 4 wo| % B o &= 0 % o o= K 13.38 -2.1
3 5 125 f& B S |K H ] JsC 13.54 =2.1
8 6 185 ZH ik 7% = : i 2 * w 14.36 -2.1
2 7 54| 35 M1k HEfy P — 2 = mom oz R 13.48 -2.1
5 8 39| v K M Wk w1 wm o om o x ox® 4 13.98 -2.1
6 9 713 MmO S lw o ow ok om o oz E 14.04 -21




F18E WHELELEZIAR—YRTKRE £ :NDYITRRADT LU
#AB:FER22%F10A3H(B)
[%F 100m F3E])
#HOBE L=y [Fun— K& ARDH 08K BZE |HENA| EE
1 2 101] #& 4k & AR f f UFH Q‘/ﬁ *y 5 i 16.61 -
1 3 137| /& W OElwm | b o oz K 15.06 -
1 4 56| % Hh ¥l lgvacz=r720—1r2 357 14.00 -
1 5 66| 5 A H EliwmerAazxsyr o bR - 2 HED 14.59 -
1 6 SO| Bl @ 2% W |[M@mosas v hA— A2 FD 1458 -
1 7 216 FofRWy & sk v o2 = 7 s 7 7 15.20 -
i gl tos|w o w r b . T " M ipNs
#HBGL] L=y [T - K4 A% o BLE  |HETHA|  EE
2 o| tor| R & m [y Mot % W 16.35 -3
2 3 207\ WO JhSRK Y 2 = T s 5T 15.17 -3
2 4 20| % A |E 7 B 2 i 15.39 -3
2 5 123 T ki lw w7 2 v — v 2 5 T 15.20 -3
2 6 170 i 1Fos i A Z w b 15.01 -3
2 7 81| ¥ B kW |w ow we v . =7 15.28 -3
2 8 233 A& OHE ¥ i v -k B % 15.38 -3
#HOBE L=y [Fon— K4 A4 a08% EE  |HEHA| EE
3 2 194 78 BE B 0SB I=R"xs Yy PR ED 15.42 -2.6
3 3 220l W B A B[Sk v = = ¥ 2z 5 7 15.07 -2.6
3 4 156 M JR %R K i H JsC 15.25 -2.6
3 5 36| 7 M R|EBEm L= K= XKD 15.37 26
3 6 162 i B fE B I=ARL o P E— R KD 15.05 -2.6
3 7 ssl & *+ M o &mlw o owm owme v - = 7 15.48 26
3 8 51| & % BE | 3 Eox  F® 1547 -2.6
2 IEGL] L=y [Fon - K£ _ Ak SO8% B.E  |HER4 E=
4 o| oslmomomom|p X 77, %, 5 7 15.24 0.3
4 3 67| & & ¥ |A fi] FC 14.84 0.3
4 4 508 A Bk Flx e srE 7 20— s 57 14.68 0.3
4 5 14| 3 Bk R N v — 2 E 14.47 0.3
4 6 12| % MO/ Milpwr 2 F oo 7 5 7 14.78 0.3
4 7 202 W OAR B W v o2 o= 7 s 5 7 14.66 0.3
4 8 207 H Wl ® ®» = = x 15.64 0.3
#BERL] L=y [Fun— K4 AR SCEk BE |HEMNA| EE
5 2 221 Fn & # A v o2 o= 7 s 7 7 15.83 -2.5
5 3 8l B W x|l A 5 A K b 15.16 -2.5
5 4 N I A T e . 14.64 -2.5
5 5 00k % Mg fw w2 = 7 14.49 -2.5
5 6| tosls & mom[F LT W H 14.82 -2.5
5 7 193] A W% ol w s v - = ® b 15.35 -2.5
5 8 158 8 2 E |k i H JSC 16.54 -2.5
5 9 oa 2 o & x|F T T 2, S 7 17.80 2.5
[ZF 100m RME]
JBfL| L=y [Fun— K4 A4 a08% R |HEHA| EE
5 2 66] 6 K B K PIEIT A2y oy b - A 14.86 -2.3
2 3 N I A e e . 14.64 -2.3
3 4 00 B % g fw w2 = 7 14.65 -2.3
6 5 170 F 1 iFo» P [ 2 & » 14.90 -2.3
4 6 1] 5% ) Wl W L - % o® b 14.71 23
1 7 56| % b FNIEH Y 2a=T T2 =2 57 14.25 -23
7 8 SOl B ¥ X WM |MHEARLZ v kA= KD 15.02 23
8 9 62] B o o A |rwm =2y R 2 A 15.16 -2.3




F18E IWWHBELEILLZAR—YKRRKRE £18 NDYITFRADT L
A E/H22410838(A)
[BEF 1000m BALL—RRE]

B [IERL] L— [Fun— K4 AR A0 8% BE |hETRA]  EE
1 1 8l M K M |xEfiva=7 T2V-F2 57 3.34.92
1 2 18| ¥ % i R e 3.39.65
1 3 147 % & O |7 " A i » 3.41.92
1 4 6| % % F RBIEHY2=F7T AU — L2 T 3.23.36
i N R P YT
1 6 197| 15 i s v = = 7 s 5 7 DNS
1 7 159 % BE K #hifwom o< - xow - v 7 7 3.15.62
1 8 174 2 B B Rl R B B x K 4 DNS
1 9 137) K e B = o — = K & 3.13.32
1 10 129] % 5 K|k H i JsC 3.53.96
1 1] s owmem|p L T " MW 35815
1 12| oofm o wfr M. " TN 35024
B [ IERL | L=y [Fun— K4 ARD e 8% B |hETRA] EE
2 1 198 P B K Hw v o2 = 7 s 5 7 DNS
2 2 173| Hi iRy Bt |5 ol A 3.27.97
2 3 123| % i B K i ] JSC 3.29.10
2 4 196 #% K fE Wik v = = 7 s 5 7 DNS
2 5 121 % M A |k 1 i Jsc 3.16.98
2 6 167| T. i kK |& El [ i 2 # s 3.19.21
2 7 200 F B OHE W[ owo owmo owm ow om PO 3.21.75
2 8 105| 7% F M S lmowr v 20 — v 2y 5 T 3.24.94
2 9 127 W BE K [k i i Jsc 3.35.29
2 10 9 Kol % F [ xmEdiva=rrRU—t2s 57 3.33.30
2 11 17| B B K F[RERZe2D )= 2F—2%D 3.23.37
2 12 45| P W OWE R I = 8 2oy A A 3.21.12
B [ NERL | L=y [Fun— K4 AR e 8% B |hETRA] EE
3 1 570 f M R B w o R0 Y = =7 3.28.84
3 2 16f i H O fF M [rersexn oy —as - xws 3.13.34
3 3 15 = i & p|5F W X ¥ — 2 K 3.12.07
3 4 139 B s (s R = & b 3.04.56
3 5 AR O R 3.03.14
3 6 18 A F ZEAKE [k wowom 2 o= 8 oz s oz HE 3.06.86
3 7 3B\ M W B E |k om o om m xw 3.03.21
3 8 8 £ H BN EEI =27y FAR—LRED 3.07.98
3 9 I S I S A A 3.16.15
3 10 84 /1 A & K |P W Y 2 = 7 W Kk 2 K D 3.18.97
3 11 7| 8 B OE e )i JAC 3.10.52
3 12 155| & #® @ (= |m ok ®m oK = K D DNS
3 13 41 # B 9L 3[R N 2 * " 3.07.69
[BEF 1000m Ltfi(6hi AE)]
JBfL | L=y |- K4 AR e 8% B |hETR4A] EE
1 5 2l 8w W ElW o owmo owm o omox oA 3.03.14
2 7 3B\ M W B E |k o om o xw 3.03.21
3 4 139 S n = * b 3.04.56
4 6 18 A F ZEKE [k ®owom 2 o= 8 oz sz HE 3.06.86
5 13 41 # B 9 3[R N 2 * " 3.07.69
6 8 8 £ H BN EEI =27y FAR—LRED 3.07.98




F18E WHELFELXIAR—IYTRRKE
[ZF 800m #ALL—RRH]

218 :NDYIRRAT T LU

B Fr22F10A3B(AH)

2 BER] L=y +on— K& AR 4 L8R BE |HETHA] EE
1 1 103 4 W % Alxsmdiva=7r720—+r2357 2.47.51
1 2 111 % W H[wair - ®mA e 7 AU — b 2.57.81
1 3 208] kK W OB Mlx B o om o ox  w® » 2.59.62
1 4 222 B AR s v = = 7 7 2.54.36
1 5 181f % M L T S - 2.52.16
1 6 236 BT W W F ] [ k B = 2.48.32
1 7 Ul B b W[xstiva=7vr 2V —F2s57 24337
1 8 209 K W E OSR|& AR W k2 & 3.00.11
1 9 230 E o\ M Absk v o2 o= 7 s 5 7 2.59.42
1 10 10| K B &K [mwm - w7 20 — b DNS
1 11 109 45 Hb o BY A [moawrar - w7 20U — 3.08.22
1 12 O I - L L A S 3.03.11
1 13 186] B i H R |- A K T v S v *®b DNS
1 14 188 = B AL Fllw on 3 = s oz o o 3.01.24
#8BERL] L=y [+on— K4 RARD 4 FCER RGeS E=E
2 1 141) & M M X[ ®m o2 % — x K 4 2.49.28
2 2 58| 85 K B K|E#Hva2=vr 2V —-rs 35T 24174
2 3 195 1 B ZoXZ | B SN — 2R — A s T T DNS
2 4 38| e R < Am|wwmwEm v — x -1z 2.45.00
2 5 140 7 B T BE|RERZoAAL b Y —2%F—2ED 2.39.94
2 6 153 & Il % B |K il i JsC DNS
2 7 232 M OZE KM B I = 8 2 sy 2 E® D 2.43.20
2 8 226| {6 M Bk v 2 = 7 s 7T 2.43.94
2 9 57| I Blradva=7720-1+2357 2.48.50
2 10 151 & W Fn % |k o i JsC 2.40.11
2 1 166 /v B BN |(EENI=A"2T7y b E— LR ED DNS
2 12 72| & B R ¥R |E N 2 i » 2.48.40
2 13 61 1= 4 #H|lpwHs=rnztr v kR—nr =z KD 24777
2 14 93| # fk W F[Retiva=7vr2V-t+2sr57 2.50.06
8 BERL] L=y [+on— K4 RARD 4 FCER RGeS E=E
3 1 30[ B 0 HYE = & /% A s 2.42.85
3 2 138 & E A MR #E R N FAR— 2 KD 2.39.16
3 3 223) $ K M K[k v 2 = 7 s 5 T 2.38.35
3 4 190 kB 3ok e 4 ow o® o2 & 2.31.96
3 5 234 # ik e | ¥ o e IS % e 2.33.49
3 6 82| B M UMY [l TC ¥ a2 = T 2.35.48
3 7 122 db A #F K i # it % = 2.52.25
3 8 N m E Bk RE 7= vy S R E D 2.46.09
3 9 498 g R ks & v s =X 2.38.77
3 10 150| /N E & x|k i & Jsc 2.42.28
3 11 87| W B F F|EHE AT v bR — R E D 2.47.66
3 12 46| H O o |a ] 2 A i 2.41.90
3 13 19 5r B O£ Bk )il JAC 2.53.13
3 14 10| % g B oA 3;74]~7¢\77xi:/<x/7\y]~7Ji‘~w; 24128
3 15 37w 4G B K lmwmowmmosr - R — xR 24207
[#F 800m Lfi(6fii AE)]
MBS | L=y [Fomn— K& RRD 4 OBk BiE _[HETRE| EE
1 190 kB3 ke 4 ow o® o2 & 2.31.96
2 234 % ik e | v o e IS % e 2.33.49
3 82| m M UMY [l mC ¥ a2 = T 2.35.48
4 223 86 K W ks v 2 = 7 2z F 7 2.38.35
5 4 H E ks 7« y S = R 2.38.77
6 138 %2 ¥ H F|R R ~ v K & — L 2 & b 2.39.16




F18E IWWHBELEILLZAR—YKRRKRE

[BF 80mH AALL—RiRkE]

12 :NDYILRATDT LUz

B F/R22410A3B(A)

@ e L [ron-|  E4# K% e B |mETAE|
1 4 2 a8 8 K — B[ - RS- -2 D 16.07 —0.3
1 6 3 96 m A B K |mamoar - WA LT XU — b 17.32 -0.3
1 1 4 7| kOO o2 |= o o o# w2 ®K b 13.43 -0.3
1 2 5 A I A -7 14.06 —0.3
1 3 6 2[#H A K R 7z=vs 2y —2xD 14.44 —0.3
1 5 7 175 = i s EH IR B Bk ox ® D 16.30 -0.3
HO|JER) b=y |[Fon=| KB AR % ECER BiE |[THETAE|  EE
2 2| 1e5| f E FOE |k ok w ok A &K DNS
2 3 3| Mol m M W i 2 i 2 15.40 -1.5
N 4 uof o mABIlE oW oo om o2 & 14.83 -15 BERL
AR 5 95| T - BE|m @ - omog w7 oAy = b 14.83 -15 BEELL
2 6 | & A B8 & w & % & B % ox K P DNS
2 4 7 53 F%F K R Mk Yy 7 A — 2R D 16.73 -1.5
@ Bk v—v]ton-|  E4 2% oy A |mERA| =
3 4 2 58| gk ik A @ e ¥ - = 7 18.38 —4.3
3 3 &% ® # B|F&EHiva=772Y -2 77 DNS
3 2 4 6| F H A H|RKRZV==v I AY v h—2ED 14.95 —4.3
3 1 5 R N L A T 14.51 —4.3
3 6 153| 7% ftlx v o4 4 — 7 o ox DNS
3 3 7 6| B O EE |k B oW Kk o2 K 16.30 —4.3
(8% 80mH Lfi(6fz AH)]
IR | L=y |Fon—| K% AR % EC 8% BE | HETAA]  EE
1 IR I T A =SV [T S TR S 7 13.43 —0.3
2 61 /N R B e o e - s = X 14.06 -0.3
3 22 85 K K BIKR7==v 27 2% v b —2HD 14.44 -0.3
4 R T L A 14.51 4.3
5 Lo i BORH | R b o o2 K D 14.83 -1.5
5 5| T — BE|rwa - mmwr T xy— b 14.83 -1.5 BEERLL




F18E IWWHBELEILLZAR—YKXRKRE

[ZF 80mH ABALL—RiRkE]

12 :NDYILRATDT LUz

B F/R224£10A3B(A)

A | NBGL| L=y [Fon— K RARD4 ECER B |HETHE|  EE
1 3 2 64| & R RS [ < = cx s o b A R 17.38 —2.7
1 6 3 154 & B B & |k i H Jse 18.41 -2.1
TR I R N L 14.96 -2.7
1 2 5 M2l kOB O OB w R o owm o= & 15.19 2.7
1 5 6 119 kK ¥ B A |mwi - WM LT 20— b 18.40 -2.7
1| 4 7| 9w owm oEBranva=rrxr—rr57 18.31 -2.7
1| 7] 8| mol ko mlx omom o 2 ox 18.81 -2.7
A | NBGL| L=y [Fon— K& AR 4 SCER BRI |HETHE|  EE
2 5 ) 206| % L e T 17.93 -1.4
2| 7] 3] WA E o X i = I8¢ 20.65 -14
2 2 4 72| 2 REOE OB | ow e = 7 15.05 -1.4
2 1 5 18| Ftd & M |2 - WAL Jr 7 AU — b 14.74 -14
2 4 6 84| FO# R oM oy v o» — A K D 15.92 -1.4
2l 3l 7l oM omomEle w o= ox» 15.45 1.4
2 6 3 102| B4 HED | R&Ef Y a=7720 ks 57 19.16 -14
#A | NBGL| L=y [Fow— K& ARV E iy 23 BiE |HETHE|  EE
3 7 ) 60| % O Ty fEow s v = kK - o oz o® & 20.19 4.6
3 3 3 9 ¥ K HlErsET XY - b2 T T 15.98 -46
3 4 4 183 i I z k % " v 16.82 -4.6
3 2 5 92| 7 B TEE BT AI=A2Fy bR-A AR 15.52 -4.6
3 1 6 91| & % N S T S S 15.43 —4.6
3 5 7 9 A M H MK Ya=77AY)—r2FT 19.16 -46
3 6 8 179 ¥ & B (& H A w > 19.51 -4.6
(&% 80mH Ltfi(6fz AE)]
MERL | L=y | o'~ K& ARV E Y23 BiE |HETHE|  EE
1 18| Fibjl & e ir - WAL Jr 7 A U — b 14.74 -14
) [k w E Mppmi=rxsy sy b H o xwL 14.96 -2.7
3 ol ook Bl o ow v . =7 15.05 -14
4 M2l kOB M OB W O o w2 K 15.19 2.1
5 91| & % N S T S S 15.43 -4.6
6 180[ M [ M F |& s A w > 15.45 -1.4




#18[H WHELFLZAR—YKRKE £15 :NDYIRRAD T LU
B Fr22F10A3H(A)
[h2 BF 100m #REs)
$ [ NBGL| L=y [T = K4 AR £ SCER EE T ET 4 £ BE=

1 1 6 133 1 A O |k 4 i Jse 13.18 -3.2| KA HHET

1 2 3 132 W OB [k % i JSC 13.25 -3.2| X HHET

1 3 5 201 K e e & [w o - 7 e 13.28 -3.2| JBHETT

1 4 4 131] B A [k % i Jse 13.42 -3.2| X HHET

1 5 2 166 1 A H #H|—- A K& Lo 13.75 -3.2| EE[ETH

1 6 7 134 @ gk B K [k A i Jsc 15.17 -32| KA HHET




F£18E ILERVELZAR—IYZRRE =15 :NDYITLRFDT LT
B8 FH225F10A3H(A)
[fhZ ZF 100m REF]
B | L=y Fov—| K% A% S BuR | THETA 4 -k
3 121 & B BIRFE [ewir - WAL 7 % U — b 14.6 -0.1| FERLITH




4

F£18E WREVEDLLZRAR—YKHRRE

[BF YIRR—ILIRIT R

L5 :NDYITRRADT LU
B :ER22F10A3H(A)

JE£L | No. [Fun'— K4 ARD# SCER JRES LK ES &%

1 8l ¥ H M A[XK#&EHY2=7T72Y—F2 577 3467

2 93 &= MW Fm OWR W oT o WAL Jr 7 X Y — b 40.83

3 176| W oMt Pl B M ko2 K D 37.41

4 162| 75 BE W WM R N — 2 K — s T 7 52.72

5 60| #& K FE L |lu o® wC ¥ 2 = 7 42,63

6 126) & A F oK |K el M Jsc 4977

7 o4 12 R B OB |Eawmir - WM L7 2 U — b 47.45

8 83| Bl B v ow v o= = 7 B ok oA & S 4742

9 152 5% I H OB |7 N A R & 54.92

10 5l e A M O fEE W O ®» ok o2 K 55.57

11 189| 4 K of2 || oW o= K 57.92

12 101 & & Bk K |7 fit: A R & 55.69

13 120 1 [HOHR ORR (R O R o oE R OW o o= R L DNS
14 164 Fu 1 K| % B oK = 7 DNS

15 184 47 A N R A S S » 67.82

16 2B & Z | Bm oKk % K b 61.40

17| 9] ow W[ R 2 o i 64.96

18 9/~ B OB K| o o®m %k o2 K 64.91

19 190 7% B¢ N AW R W A woD 58.04

S TERES
0| 18| F JEos xR 82.54 AE ik
(BF VIORR—LEF L6 AH)]
NESE [+ = K#£ AR 4 SCER JEBE LK g @%ﬁgg

1 178l = = o b DLUN ;- SRV S N 8254 NS TRl
2 184 A OH K W |R oW ¥ X o2 & b 67.82

3 149| L B % = R A w & 64.96

4 19| /N B9 b - S R 64.91

5 265 % & | o % %k o2 ® D 61.40

6l ol m oM ok Al ow o owm 2 ow 58.04




4

F£18E WREVEDLLZRAR—YKHRRE

[&F VIRR—ILIRIT R

L5 :NDYITRRADT LU
B :ER22F10A3H(A)

JESE | No. |[Fon'—|  E RKDE bz B | hETHE | %
1 189 FE Al BARMAE M AR I = % % & 2 R D 21.83
2 17| % 3 W0 ZS|Ewar - ® A L7 AU — b 24.11
3 16| #= A 31 FE e wmir - WA W Jr 7 2 U — b 30.06
4 1000 K B £ Hfrstva=r7r29-1+2s357 41.62
5 238 7% RE B R l® o®wm  mE kR #H = 28.43
6 A1 A M ¥ R B B E 2 &K D 18.09
7 192 B OME % W ok < v — 2 K W DNS
8 69| I 0 F S| F 7 o= vom ok A K S 41.98
9 8 2% n H K|HF B 2 * — 2 & & 39.11
10 BlwmoA B ¥l ow o omwm v o2 = 7 41.00
11 65| B2 B W M|y = = v 7 2 Jr % K 36.31
12 B[ a2 KB B 8 v = K — v A K D 39.35
13 160| ## PR PN ) i Jse 18.85
14 Bl # A B FEMBES L & - xR 36.31
15 34| ¥ g Welw ®m ow ox o=z ox® 41.94
16 JEE] BT S - ESE S S 37.40
17 00K W K FlFEB YT R - 2 RS 33.34
18 47| BOfEAE AE B [E S m o w2 R D 38.88
19| 1eo| mE mE m o= |m I A b 39.20
20 4 8 K HeT W oW ®H Kk o= K D 46.00
21 214 S& W OEBARYE [ v - = 7 2 5 T 56.77
[ZF VYIRR—ILZIT Efi(efi AE)]
[ e : 2 RiKrb ks BE | miETAA | RS
; 2| % m mEMEw v - = 7 s 5 7 56.77
2 24 & K PBlxF |l O ORK X R A 46.00
3 69 B 1 F AL K7 T v ook 2R D 41.98




F£18H WWEELEILEAR—YRXRAE

(BF EYBBU R

L5 :NDYITRRADT7 LU
A Fr224F108A3H(H)

B4 | No. |Fun'— K4 ARD# ECE% JEE LilETES &=
1 59| 2 w O g M ¥ a2 = 7 L
2 193 = W O WE[FE oW B Lk #H = 1mi5
3 158 £ Ak FE | 5 ox ¥ v s - 2 S L
4 47\ Ak Bl # v 7 r 75 = 2 2 %2 1m15
5 186 4 % X H|®m + A = &K & DNS
6 124| %2 I AR £ FH Jsc 1m25
7 550 M O Mt Flame Ay oy PR -2 ED 1m36
8 al N JEH O FE Y 2 =T R 2K - s 5T 1m20
9 3|\t B OE Hm|va=T7HERERRAKX-Y I TS 1m25
10 41| % 7 W T M T s c 1m25
11 28 B B | e s 37 29 —F 2 77 1m20
12 136 & W ZE K[ B & A x = 1m25
13 187 3 M JEKER | o2 — % — 2 g — 1m36
14 9| /N B PE M KEREI=R2T Y PR AR 1m39
(BF EYSEHY Efi(6fz AEH)]
BT | Fon— K% AR 2 SLEk JEE ke &=
1 9 /N B OBE HikErI=RAs s L E— L A ED 1m39
2 187 % MW OLKER [+ m ox — 8 — 2 oz — = 1m36
3 550 M B M Flamw sz s oy bR xR 1m36
4 41| % 7 W T M T s c 1m25
5 3|\t B OE Hm|va=THERERAR—-Y I T 1m25
6 124| %2 Wi AR e H Jsc 1m25




F£18E WWEELELLZAR—YIYKHRRE 215 :NDY TR RAT T LU
#H: FRr22F10A3H(A)
[ZF FYSHU R

IEf[No. [fon-]  E4 AR 8k B | mEiE | =
1 152 B W g ik [ £ H Jsc 1L
2 63 K 1 H KI|EHYa2=7T RV -2 T 1m10
3 98 i X B |KEHYa=TTRAY -2 TT 1m20
4 105 & H & B|[REhiva=7720—+2357 L
5 171 & O E | iz A Gk 5 1m10
6 196 3% B M E W R~ - 2R - v 5 7 1m15
71 22| v o Wlw v 2 = 7 s 77 DNS
8| 35| M ow MEET|(E Oom B R #H = 1L
9 6| 18 A HFE | i A Gk 5 1m10
10 Zd I R LT N A IS 1m15
11 205/ M OB ORE|R B B £ %X K & 1m15
12 24| % R W Hifw v - = 7 s 7 7 DNS
13 15| # FE B A |Ewmir - w7 2 Y — b L
14 14| ¢ & B o T - R e TR U =k 1m15
15 145| = BE B o2 ox — 2 H® 1m20
16 146) I BE KL 3 |s b £ A wabbits A F D 1m15
17 01 JII 4 W& Al K 2 = =y o2 K D 1m20
18 281 = W OREE B I = 82y 2 AL 1m15
19 1| fE I OfE | i A Gk & 1m20
20 2| o BE R Rk | Ji A Gk 5 1m15
21 13| 8 A B EE|m w7 oq A %2 b xRS 1m20
22| 167 K E AL n A R 2 1m20
23 (Y I (TR A o 1m28

(zF EYSHU Efi(6hi AH)]

BB [Fon'~ K#£ ARD % SOEX JEE LIS g ket
1 Al 2 B K o e ¥ 2 = 7 1m28
2 98 @ X W |KEHiva=7T7RY)— b2 TT 1m20
2 167) Bk % ALl n A ik 5 1m20
4 145| & i MlE B o2 x — x K 4 1m20
5 201] 1l L I T A 1m20
5 1= g s W it A &) & 1m20




4

F£18E WREVEDLLZRAR—YKHRRE
[BF FUBBKL R

L5 :NDYITRRADT LU
B :ER22F10A3H(A)

JESL | No. [$on'— K# AR 4 SCER JERE OilESES &=
1 2| fexk f& # |wowr 7 2 Y — 2 T T 3m65 -18
2 71 & B OB fklx H B L x & D 3m40 -39
3 57| B E W RE N - 2R - 5T 3m62 292
4 92 M & M MlEwim o WHLT T =Y = 2m65 27
5 i % W & w7 =2y — 2 7 7 3m68 -0.7
6 128| F I E PN ] H Jsc 3m21 15
7 170( #ex AR & B B OE =z K D 3m87 -0.9
8 L] B T A L - S 1V O (4 3m51 07
9 2000 ®5 4B # P SRK ¥ 2 o= 7 27 T 7 DNS
10 54l 5 B & Almwy o v 7 2 ®H K2 KD 3m63 14
11 80|l & B K H|IKahYvaz=T7T AV =2 T 3m99 47
12 91| #k ORR [ - wA ) r 7 R = h 3m92 21
13 199 7 B # OAISRK ¥ 2 = 7 oy T 7 DNS
14 15| & K& 46 9% |/ Ji A N & 4m16 -36
15 JRSES] I N T S - B A S N 7 4m28 -23
16 151 gk HE & [P N 2 N % 4m52 -2
17 3| 5 OB S lFEsE TRy — b2 T T AFED 4m47 -20
18 16| H f& In M [k N JAC 4mA45 -09
(BF EYRBBKY LEfr(6fi AE)]
NEASE | Fon'— K4 AR 2 SCER JEBE LK SES 5=
1 151 B gk & |5 PN 2 RN H 4m52 -2
2 3| 5 O S |lFEsE TRy — b2 T T RAFED 4m47 -20
3 16| H f& In M [k N JAC 4m45 -09
4 JRSES] I I S - B A R S M 7 4m28 -23
5 15| & K& 46 9% | Ji A N & 4m16 -36
6 80| & B K H|IKeahYvaz=7TT AV =2 T 3m99 47




F18H WHELFELLEAR—IYKRRKE

(ZF FEUBBD REF

=15 :NDY IR AT LT
#H:FER2281083H8 (H)

JEST | No. [Fomn'— K4 AR £ ERE% I iR e &=
1 185| ¥ # &<bH|mEI=nxry bR—A XD 2m49 —1
2 203| 7% ZlR B B OE oz K D 3m49 -27
3 204 & M O AR OB B Ok o2 K D 2m78 4.1
4 168 A A F Ay [0 H A N b 2m93 -19
5 157 BT # F 2K i i Jsc 2m56 -15
6 75| M M o2 2o — 2 X 2 3m4i -0.6
7 13| #& W o L e - wA g 7 2 Y — b 2m66 17
g| o E A H W W x A P 3m38 -1.2
9 112 HAE PE e wrc - WAL ] r 72U — E
10 125\ M A HoE | 7T 2 Y — 2 7T 3m49 05
11 126 58 H FE G| oET T o2 ) — k2 T T 3m39 -0.9
12 44 % B OF O R Pt oW oA X A 3m28 -1.7
13 124 /NUE A fgor 7 o2 ) — b 7 T T 3m08 16
14 9| m o EF |KEE Y a=T T AU -2 T T 3m08 -29
15 68| i E OFE|EwHmE FT R Y X E D 3m86 -0.2
16 85| N HE B H|WBEAZRL Y AR - LR KD 3m18 09
17 218 7 MW Ew Wi |SRK ¥ =~ = ¥  F 7 3m43 24
18 48[ W W WlE A2 E T R Y — s T T 3m65 -16
19 | R RWRT T TT 3m78 -0.7
20 87| ¥ & #®m Fl- A kKT v 2 KD 3m64 -29
21 202 R B T " om Y oy o — 2 K D 3m80 0.2
29 B oA FE KN B OTRC Y o2 = 7 3m67 -3
23 31| A % BIBEAE |® M R 2 a 3m89 -31
24 149[ B[ # O K i FH Jsc 3m94 1
25 3| = W o F | J& A N 22 3m57 -3
26 M3 F B OHEAEE|F N 2 ¥ — 2 K & 3m91 0.2
27 219 ¥ KISRK ¥ =2 = 7 7 T T 3m80 1.2
28 220l #2 M B AE|SRK ¥ = = T 2 T 7 4m07 -08
29 213 = M M OBLISRK Y 2 = T s T T 4mi1 -16
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5 31 A BFOBAAAE |& ™ s A 4 3m89 -3.1
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$£18E WHELEDLLZAKR—YRXRKE 215 :NDY TR AR 7 LU
HiH:FR22FE10A3H(A)

T IR HIRL SR 2R
B 10:30 11:00 12:00 13:00 14:00 15:00
KAz fii§ fii5 i = & &
i (C0) 21.2 22.0 21.9 23.0 22.0 21.3
JEL[H] H [iz] [iZ] [i] [ii] P 7h
JEE (m/sec) 1.3 2.1 1.2 2.5 0.7 1.6
T (%) 44.3 40.0 40.8 39.6 44.3 47.4




